THE NAVAJO NATION

JONATHAN NEZ | PRESIDENT | MYRON LIZER | VICE PRESIDENT



July 1, 2022

RELIANCE MEDICAL GROUP LLC. 3451 N. BUTLER AVE. FARMINGTON, NEW MEXICO 87401

ATTENTION: KENNARD STRADLINE, PRESIDENT

REFERENCE: 164 Review 017690/Agreement

Dear Kennard:

Attached please find your copy of the approved Agreement (CO15403) with the Navajo Nation Environmental Protection Agency (EPA). The Agreement has been awarded in the amount of \$22,697.00. The term of the Agreement will commence on October 1, 2021 and expires on September 30, 2022.

The above contract number must be referenced on all invoices, documents, and correspondence as it relates to this contract.

Should you have any questions, please contact Dariel Yazzie at 928-871-7325.

Sincerely,

Jeremy Ben, Accounting Manager OOC – Contract Administration

xc:

Dariel Yazzie, Navajo Nation EPA
Cherise Natani, Contract Accounting/Navajo Nation Office of the Controller-Fiscal Recovery Office
Dorthene Edison, Contract Accounting/Navajo Nation Office of the Controller
Contract Folder: CO15403

FORM 1 (ADMINISTRATIVE PURPOSES ONLY)

SERVICES CONTRACT BETWEEN THE NAVAJO NATION AND

RELIANCE MEDICAL GROUP, LLC

	RELIANCE MED	1	•		
Consultant's Lega	l Name (this must match the na	ne on the Contrac	tor's W-9 and Cei	rtificate of Insurance)	
345	1 N. Butler Avenue,	Farmington	, NM 8740	1	
	Consultant's physica		d sip code		
		566-1915			
	Consulani	telephone numbe	r:		
		CON	NTRACT NO	D:	
FOR THE PERIOD:	BEGINNING _	October	01, 2021		
	ENDING _	Septemb	er 30, 2022		
PAYMENTS TO BE MA	DE FROM:				
	Account: K2115	04_6850	Fees:	\$	14,023.00
	Account: K1711		Fees:	\$	3,800.00
	Account: K2111	00_6850	Fees:	\$	4,874.00
TOTAL PAYMENTS ON	I THIS CONTRACT	NOT TO E	XCEED:	\$	22,697.00
UNDER THE TERMS AT	ND CONDITIONS C	UTLINED	IN:		
ATTACHN ATTACHN	MENT A – Mutual Pr MENT B – Scope of '	omises and Work	Agreements	3	
EXHIBITS:					
EXHIBIT I	A — Accounting Code B — Consultant Crede C — Certificate of Ins	ntials	et		
Employer's Identification	No.: 85-0478090	5			
or Consultant's Social Securi	ty No.:		this n	umber must match	Form W-9

SERVICES CONTRACT

ATTACHMENT A- Mutual Promises and Agreements

This Services Contract ("Contract") is made and entered into by and between the Navajo Nation, hereinafter called the "NATION" and Reliance Medical Group, LLC called the "CONSULTANT." Collectively, the NATION and the CONSULTANT are the "PARTIES." The PARTIES agree as follows: 1. Contract Term. The NATION agrees to use the non-exclusive services of the CONSULTANT October 01. 2021 , and ending September 30. 2022 beginning 2. Scope of Work. The CONSULTANT agrees to perform the services described in ATTACHMENT B - Scope of Work ("Scope of Work"). Any changes to the Scope of Work must be agreed to by the PARTIES through a formal Modification of the Contract pursuant to Paragraph 13 below. 3. Compensation. The NATION agrees to compensate the CONSULTANT for services performed under this Contract by paying a sum not to exceed \$ 22,697.00, as per EXHIBIT A -Accounting Codes and Budget, to include the Navajo Nation and local government sales tax amounts described in Paragraph 18, below, for work performed within the territorial jurisdiction of the NATION. 4. Authorized Representative. The CONSULTANT shall work with the Navajo Envir Protection A (Contracting Program), and its Authorized Representative, Dariel Yazzie, Envir Prog Su, in the performance of work or services under this Contract. No payment shall be made unless said Authorized Representative approves the work performed or services provided under this Contract and has approved the invoice(s) submitted by the CONSULTANT. Only the Authorized Representative or someone formally delegated by the Authorized Representative may assign tasks under the Scope of Work. All invoiced expenditures must be supported by receipts. 5. Contract Number. Contract Number Cshall cover this Contract, and reference to this number shall be made on all invoices submitted by the CONSULTANT to the NATION for payment. 6. Availability of Funds. The liability of the NATION under this Contract is contingent upon the availability of funds. Pursuant to 2 N.N.C. §223(B), all contracts shall have sufficient funds available

7. <u>Travel Expenses</u>. The PARTIES recognize that the CONSULTANT may incur reasonable travel expenses in connection with providing services to the NATION. For said travel expenses to be eligible for reimbursement hereunder, the Authorized Representative must approve the travel in writing before said expenses are incurred.

to perform the services under the Contract.

8. Consultant is an Independent Contractor. Neither CONSULTANT nor its employees are, or shall be deemed, NATION employees. In its capacity as an independent contractor, CONSULTANT agrees and represents, and the NATION agrees, that CONSULTANT: (a) has the sole right to control and direct the means, manner, and method by which the services will be performed; (b) shall utilize its own employees, facilities, equipment, tools, and supplies in performing the services; (c) is not eligible to participate in, and is not eligible for coverage under any NATION employee benefit plans or offerings; and (d) is free to make its services available to third parties. Nothing in this Contract shall be construed to create any agency or employment relationship between CONSULTANT or any of its employees and the NATION. Neither Party shall have any right, power, or authority to assume, create, or incur any expense, liability, or obligation, express or implied, on behalf of the other. The

CONSULTANT is responsible for payment of all taxes related to this Contract, and except as otherwise provided in Section 18 below, the NATION is not responsible for withholding, and shall not withhold, income taxes, FICA, unemployment taxes, or other taxes of any kind from any payment it owes to CONSULTANT, nor shall the NATION be responsible for remitting the employer's share of employment taxes to federal or state governments.

- 9. The Nation's Ownership of Work Product. The product(s) and title of the CONSULTANT'S work and services under this Contract shall be and will remain the property of the NATION. The NATION may use the work product for any purpose without prior approval or additional payment.
- 10. The Nation's Right to Inspect Place of Business and to Inspect and Audit Books and Records. The CONSULTANT agrees that the NATION may, at reasonable times, inspect the part of the plant or place of business of the CONSULTANT that is related to the performance of this Contract; and CONSULTANT further agrees that the NATION may, at reasonable times and places, inspect and audit the CONSULTANT'S books and records to the extent that such books and records relate to the performance of this Contract. The CONSULTANT shall maintain such books and records, and such books and records of any Subcontractor, for at least five (5) years from the date of final payment under this Contract. Further, CONSULTANT agrees to include in any Subcontractor agreement related to this Contract, provisions that the Subcontractor agrees (a) that the NATION may, at reasonable times, inspect the part of the plant or place of business of the Subcontractor that is related to the performance of this Contract; (b) that the NATION may, at reasonable times and places, inspect and audit the Subcontractor's books and records to the extent that such books and records relate to the performance of this Contract; and (c) that the Subcontractor shall maintain its books and records related to the performance of this Contract for at least five (5) years from the date of the CONSULTANT'S final payment under this Contract.
- 11. Contact Information: Final Invoice. Copies of all correspondence, reports, and invoices under this Contract shall be furnished to:

Insert the NATION'S and the CONSULTANT'S contact and contact information:

Accounting Supervisor

Contract Administration

The Navajo Nation

Post Office Box 3150

Window Rock, Arizona 86515

Dr. Kennard Stradling, President

Reliance Medical Group, LLC

3451 N. Butler Avenue

Farmington, New Mexico 87401

NOTE: The final invoice will be due within thirty (30) days after the Contract ends.

- 12. <u>Indemnification</u>. The CONSULTANT agrees to hold harmless and indemnify the NATION against any and all losses, costs, damages, claims, accident or injury to person or property including death, attorneys' fees, expenses, and other liability whatsoever (collectively, "Claims"), arising under, related to, or in connection with this Contract, except to the extent such Claims are directly caused by the gross negligence or wanton and willful conduct of the NATION or to the extent they result from the negligence of NATION officials or employees as provided for and in accordance with 1 N.N.C. §§551 et seq.
- 13. Modifications. Any modifications to this Contract shall be made only by written amendment, signed and executed by all parties to this Contract. If a cost-based selection method, such as the submission and evaluation of bids, was used to procure this Contract, any amendment to increase this Contract that exceeds twenty percent (20%) of the original accepted bid amount shall be handled pursuant to 2 N.N.C. §223(F).

- 14. <u>Disputes: No Waiver of Sovereign Immunity</u>. Any and all disputes arising under, related to, or in connection with this Contract will be resolved first through negotiation between the PARTIES under the laws of the NATION. If negotiation does not resolve the dispute, the NATION may pursue legal action. Nothing herein shall be construed as a waiver of the NATION'S sovereign immunity.
- 15. Termination. The NATION may terminate this Contract at any time upon ten (10) days advance written notice to the CONSULTANT, in the event that: (a) the NATION, in its sole discretion, determines the CONSULTANT'S work or services provided are not satisfactory; (b) the CONSULTANT fails to submit reports and other documents as requested by the NATION within defined time schedules to the satisfaction of the NATION; (c) the CONSULTANT fails to submit verification of invoices to the NATION for payment to the satisfaction of the NATION; (d) the CONSULTANT is in breach of any material term or condition of this Contract; or (e) funds are not appropriated or otherwise made available to support continuation of this Contract.
- 16. Applicable Law and Jurisdiction. The CONSULTANT shall comply with all Navajo Nation laws, as they may be amended from time to time, including, but not limited to, the Navajo Business and Procurement Act, 12 N.N.C. §§1501 et seq., the Navajo Preference in Employment Act, 15 N.N.C. §§601 et seq., the Navajo Nation Business Opportunity Act, 5 N.N.C. §§201 et seq., the Navajo Nation Corporation Act, 5 N.N.C. §§3101 et seq., the Navajo Nation Limited Liability Company Act, 5 N.N.C. §§3600 et seq., and the Navajo Uniform Commercial Code, 5A N.N.C. §§1-101 et seq., and applicable regulations. The CONSULTANT agrees to be subject to the jurisdiction of Navajo Nation courts and tribunals.
- 17. <u>Pre-Contract Costs</u>. Costs incurred before the finalization of this Contract deemed reasonable, allowable, and allocable to performance of the Contract as agreed to by the PARTIES may be paid under this Contract.
- 18. Navajo Nation Taxes. The CONSULTANT shall comply with all applicable Navajo Nation tax laws under Title 24 of the Navajo Nation Code and corresponding regulations. The CONSULTANT is subject to and shall be liable for payment of the Navajo Nation Sales Tax, at the prevailing rate, on gross receipts for all work performed within the territorial jurisdiction of the Navajo Nation pursuant to 24 N.N.C. §§601 et seq., and the Navajo Nation Sales Tax Regulations §§6.101 et seq., as amended from time to time, except that work performed within the To'Nanees'Dizi Local Government ("Tuba City Chapter") or the Kayenta Township is subject to their respective local sales taxes as amended from time to time. In addition to being subject to Navajo Nation Sales Tax, the CONSULTANT is subject to local sales tax on gross receipts for all work performed within a governance-certified chapter that imposes a local sales tax pursuant to a duly enacted local tax ordinance and the Uniform Local Tax Code, 24 N.N.C. §§150 et seq.

The CONSULTANT shall segregate, on each invoice, the work performed within and outside the territorial jurisdiction of the Navajo Nation, and within and outside the jurisdictions of governance-certified chapters that impose a local sales tax. The NATION shall withhold from each payment to the CONSULTANT the applicable Navajo Nation Sales Tax and/or local sales tax due from the total invoice amount associated with work performed within the Navajo Nation and/or within governance-certified chapters that impose a local sales tax (excluding Tuba City Chapter and Kayenta Township). The amount withheld reflects the Navajo Nation Sales Tax and/or local sales tax due on such invoice amounts. The NATION shall transfer the withheld amount to the Office of the Navajo Tax Commission as payment of the Navajo Nation Sales Tax and/or local sales tax on behalf of the CONSULTANT. The CONSULTANT will then indicate on the quarterly tax return or returns required for the Navajo Nation Sales Tax and/or local sales tax that this amount

has been previously withheld and paid to the acknowledged that the NATION withholding amounts pursuant to this section in no way removes responsibility from the CONSULTANT as a taxpayer for timely filing of tax returns and timely payment of any other amounts, which may be owed for taxes.

The CONSULTANT is subject to the Tuba City Chapter Sales Tax on gross receipts for all work performed within the Tuba City Chapter pursuant to the To'Nanees'Dizi Local Government Tax Code, as may be amended from time to time, and shall pay the sales tax directly to the Tuba City Chapter. The CONSULTANT is subject to the Kayenta Township Sales Tax on gross receipts for all work performed within the Kayenta Township pursuant to the Kayenta Township Tax Ordinances, as may be amended from time to time, and shall pay the sales tax directly to the Kayenta Township. The NATION shall not withhold this portion of the tax that is directly payable to Tuba City Chapter or Kayenta Township.

The CONSULTANT is solely responsible for the payment of all applicable taxes.

- 19. Consultant Debarment: Suspension. If the identifiable capacity as an individual, business corporation, partnership or other entity is deemed ineligible, debarred, or suspended pursuant to the Navajo Business and Procurement Act, 12 N.N.C. §§1501, et seq. or the Navajo Nation Procurement Act, 12 N.N.C. §§301, et seq., the CONSULTANT is not legally able to enter into this Contract, and this Contract shall be null and void unless the factors that warranted the ineligibility, debarment or suspension have been sufficiently addressed as provided by applicable Navajo Nation laws.
- 20. <u>Insurance Coverage</u>. The CONSULTANT shall obtain and maintain adequate insurance coverage as recommended and verified by the Navajo Nation Risk Management Program ("RMP") for the entire term of the Contract. The insurance coverage shall name the NATION as an additional insured as specified by the RMP, and the CONSULTANT shall notify the contracting program and the RMP, c/o The Navajo Nation, P.O. Box 1690 Window Rock, Arizona 86515 within five days of any change in the insurance policy. Proof of such insurance is attached as Exhibit C Certificate of Insurance, which is made part of this Contract. The failure to fully comply with this provision shall render this Contract null and void.
- 21. Conflicting and Additional Terms. Any additional terms and conditions of the CONSULTANT are attached hereto and incorporated into this Contract, provided however that in the event of any conflict between the terms and conditions of this Contract and any of the CONSULTANT'S additional terms and conditions, the terms and conditions of this Contract shall control and govern. Any additional terms and conditions not attached to this Contract shall have no force or effect.

SIGNATURES OF THE CONTRACT

For the Consultant:		For The Navajo Nation:	
_ 11/2	14/4	and No	06-08-2022
Kennard Stradling, President	Date	Branch Chief	Date
Reliance Medical Group, LLC		The Navajo Nation	Date
3451 N. Butler Avenue		Post Office Box 9000	
Farmington, NM 87401		Window Rock Arizona 86515	

SERVICES CONTRACT

ATTACHMENT B - Scope of Work (include timeframe)

FIRM NAME	Reliance Medical Group, LLC	
ADDRESS	3451 N. Butler Avenue	
	Farmington, New Mexico 87401	_
TELEPHONE NO.	(505)566-1915	_

SERVICES CONTRACT

EXHIBIT A - Accounting Codes and Budget

FIRM NAME	Reliance Medical Grou	p, LLC		
ADDRESS	3451 N. Butler Avenue			
	Farmington, New Mex	co 87401		
TELEPHONE NO.	(505) 566-1915			
	ACCOUN	TING CODES		
Account Number	Accour	it Name		Item Totals
K211504 _	6850 Diagno	stic/Testing/Eval	\$	14,023.00
K171112 _	6850 Diagno	stic/Testing/Eval	\$	3,800.00
K211100 -	6850 Diagno	stic/Testing/Eval	\$.	4,874.00
Т	OTAL CONSULTANT FEI	S AND EXPENSES:	\$_	22,697.00
ATTACH A DET	ices \$22,697.00; Navajo N AILED BUDGET TO THIS get total must match the tot	EXHIBIT A USING THE	e FO	RMIII.AS BELOW
-Cost	Estimate-Fees			
Sper day or per h	our xwork days or work	hours outside the Navaio Na	tion:	\$
	our xwork days or work			s
	h Navajo Nation tax on fees for			s
		Total Fe		<i>s</i>
Cost	Estimate-Expenses			
	Trave	(miles x \$per mi	le):	\$
		meals x \$per med	•	s
		required overnight stay		<i>\$</i>
		re (\$per trip xtrip		<i>s</i>
Mate	rials, supplies, and goods (list	each item and associated cos	st):	<i>s</i>
		Total Expens	es:	\$

Reliance Medical Group, LLC 3451 N Butler Avenue Farmington, NM 87401 505-566-1915

January 19, 2022

Navajo Nation EPA Superfund Administration (ARPA) PO Box 2946 Window Rock, AZ 86515

Re: Requested Quote

Annual Physical Exam for 1 Employees

To Whom This May Concern,

Thank you for the opportunity to provide this proposal for occupational medical services. We strive to provide the highest quality medical services in the community.

The items that you requested prices for are listed below:

Total	\$1239 00
Venipuncture	\$ 0.00
Lipid Panel	\$ 50.00
Uric Acid (blood)	\$ 30.00
Phosphorus Assay	\$ 19.00
EKG	\$ 70.00
Respirator Fit Test (Quantitative)	\$ 50.00
Respirator Fitness Exam (incl PFT & Questionnaire)	\$ 80.00
Chem 23 w/CBC & UA	\$ 88.00
Cardiovascular Stress Test	\$384.00
Clinical Read	\$ 75.00
Chest X-ray, 2 View	\$278.00
Audiogram	\$ 40.00
•	\$ 75.00
Hazmat Physical	ቀ ማሮ ዕለ

If you have any questions or require additional information, please contact me at 505-566-1915 ext 115 or rbaker@reliance505.com. Thank you again for your proposal request. We look forward to hearing from you.

\$1239.00

Sincerely, Paret Elines

Rene' Baker - Billing Manager Reliance Medical Group, LLC

NAVAJO ENVIRONMENTAL PROTECTION AGENCY ADMINISTRATION (ARPA) ANNUAL PHYSICAL TESTING - FY'2022

Contract: Reliance Medical Group, LLC

Division/Department Name: Navajo Environmental Protection Agency - Administration (ARPA)

Purpose: Annual Physical Exam (OSHA Requirement)

				D WIT RE		Cardiovas		Resp Phys	per la servicio de		ALC: NO PERSONS	Photograph of the	Maria and	Venipunct
						cular	Chem 23	(incl PPT	Respiratory					ure
		HAZMAT	Audio	Chest X-ray	Clinical	Stress	w/ CBC &	&	Fit Test	Phosphor	Uric Acid	Lipid		(No
Employee Name	Position Title	PHYSICAL	Gram	, 2 View	Read	Test	UA	Questionn	(Quantitative)	ous Assay	(blood)	Panel	EKG	Charge)
1 DAYZIE, Shelby	Remedial Project Manager	V	٧	V	٧	٧	٧	V	V	V	v	· ·	.,	charge/

est/Cost:	Pr	rice	# of Staff		Total:	Account Distribution:		
azmat Physical	\$ 7	75.00	1	\$	75.00			
udio Gram	\$ 4	40.00	1	\$	40.00	K211504-6850	\$	1,23
hest X-ray, 2 View	\$ 27	78.00	1	\$	278.00		*	-,
linical Read	\$ 7	75.00	1	\$	75.00			
ardiovascular Stress Test	\$ 38	34.00	1	\$	384.00	Grand Total:		\$1,239
hem 23 w/CDC & UA esp Phys (incl PFT&	\$ 8	38.00	1	\$	88.00			
uestionnaire espirator Fit Test	\$ 8	30.00	1	\$	80.00			
Quantitative)	\$ 5	50.00	1	\$	50.00			
nosphorous Assay	\$ 1	19.00	1	\$	19.00			
ric Acid (Blood)	\$ 3	30.00	1	\$	30.00			
pld Panel	\$ 5	0.00	1	\$	50.00			
(G	\$ 7	0.00	1	\$	70.00			
enipunchure (No Charge)	\$		1	\$				
er attached quote			Total:	\$:	1,239.00			

Revised: 1/19/22:ld

Reliance Medical Group, LLC 3451 N Butler Avenue Farmington, NM 87401 505-566-1915

January 19, 2022

Navajo Nation EPA Superfund PO Box 2946 Window Rock, AZ 86515

Re: Requested Quote

Annual Physical Exam for 10 Employees

To Whom This May Concern,

Thank you for the opportunity to provide this proposal for occupational medical services. We strive to provide the highest quality medical services in the community.

The items that you requested prices for are listed below:

Total	\$1,239.00		\$11,940.00
	\$U.UU	x 10	included at no charge
Venipuncture	\$0.00		\$700.00
EKG	\$70.00	x 10	
Lipid Panel	\$50.00	x 10	\$500.00
Uric Acid (blood)	\$30.00	x 10	\$300.00
Phosphorous Assay	\$19.00	x 10	\$190.00
Respirator Fit Test (Quantitative)	\$50.00	x 1	\$50.00
Resp Fitness Exam (incl PFT & Quest)	\$80.00	x 10	\$800.00
	\$88.00	x 10	\$880.00
Chem 23 w/CBC & UA		x 10	\$3840.00
Cardiovascular Stress Test	\$384.00		\$750.00
Clinical Read	\$75.00	x 10	
Chest X-ray, 2 View	\$278.00	x 10	\$2780.00
Audiogram	\$40.00	x 10	\$400.00
Hazmat Physical	\$75.00	x 10	\$750.00

If you have any questions or require additional information, please contact me at 505-566-1915 ext 115 or rbaker@reliance505.com. Thank you again for your proposal request. We look forward to hearing from you.

Sincerely,

Rene' Baker - Billing Manager Reliance Medical Group, LLC

NAVAJO ENVIRONMENTAL PROTECTION AGENCY NAVAJO SUPERFUND PROGRAM ANNUAL PHYSICAL TESTING - FY'2022

Contract: Reliance Medical Group, LLC

Division/Department Name: Navajo Environmental Protection Agency - Navajo Superfund Program

Purpose: Annual Physical Exam (OSHA Requirement)

Employee N	ame Position Title	HAZMAT PHYSICAL	Audio Gram	Chest X-ray , 2 View	Clinical Read	Cardiovascular Stress Test	Chem 23 w/	Resp Phys (incl PPT & Questionnaire)		Phosphorou s Assay	Uric Acid	Lipid Panel	EKG	Venipunctu re (No Charge)	PSA (Male)	Heavy
ARVISO, E.	Hydrologist	V	٧	٧	٧	٧	٧	٧		y.	v	1	J	1 de charge)	(ividic)	Ivietal
BEGAY, D.	Environmental Specialist	V	٧	٧	٧	٧	٧	V		V	- ,	7/	1	1 1	-	
BEKIS, J.	Remedial Project Manager	V	٧	٧	٧	٧	٧	V		J	-	- 1				-
CRAIG, V.	Sr. Environmental Specialist	٧	٧	٧	٧	٧	V	V		,	- 1	- 4	· · ·	V		
DENETDEEL, T.	Sr. Environmental Specialist	V	٧	V	٧	٧	V	7		,,	V	V	V	V		100
JENKINS, D.	GIS Analyst	٧	٧	V	٧	٧	V	7		· ·	٧	· ·	V	V		
LEE, D.	Sr. Environmental Engineer	V	٧	V	V	V	v v	,,		.,	· · ·	v	٧.	V		
MAPLES, P.	Environmental Specialist	V	V	V	V	٧	7	,	-		V	v	V	V		
SILVERSMITH,	L. M. Sr. Remedial Project Manager	V	٧	V	V	V	7	1		V	V		V	٧		
YAZZIE, D.	Environmental Program Supervisor	V	٧	٧	٧	٧	, ,	7		7	· · ·	V	V	٧		

Account Distribution: K211504-6850

K171112-6850

Grand Total:

Revised: 2/28/22:ld

\$ 8,140.00

\$ 3,800.00

\$11,940.00

\$ Price 75.00	# of Staff		Total:						
\$ 75.00			iotal:	Test/Cost:		Price	# of Staff		Total:
73.00	10	\$	750.00	Chest X-ray, 2 View	\$	278.00	10	\$	2,780.00
\$ 40.00	10	\$	400.00	Clinical Read	\$	75.00	10	s	750.00
\$ 384.00	10	\$	3,840.00	Uric Acid (Blood)	5	30.00	9	5	270.00
\$ 88.00	10	\$	880.00						
\$ 80.00	10	\$	800.00						
\$ 50.00	1	\$	50.00						
\$ 19.00	10	\$	190.00						
\$ 30.00	1	\$	30.00						
\$ 50.00	10	\$	500.00						
\$ 70.00	10	\$	700.00						
\$	10	\$							
	Total:	\$	8,140.00	Per attached quote		т	otal:	\$	3,800.00
\$ \$ \$ \$ \$ \$ \$ \$ \$ \$	\$ 384.00 \$ 88.00 \$ 80.00 \$ 50.00 \$ 19.00 \$ 30.00 \$ 50.00 \$ 70.00 \$	\$ 384.00 10 \$ 88.00 10 \$ 80.00 10 \$ 50.00 1 \$ 19.00 10 \$ 30.00 1 \$ 50.00 10 \$ 70.00 10	\$ 384.00 10 \$ 88.00 10 \$ \$ 88.00 10 \$ \$ \$ 80.00 10 \$ \$ \$ 50.00 1 \$ \$ \$ 19.00 10 \$ \$ \$ 30.00 1 \$ \$ \$ 50.00 10 \$ \$ 70.00 10 \$ \$ \$ 70.00 10 \$ \$	\$ 384.00	\$ 384.00	\$ 384.00	\$ 384.00	\$ 384.00	\$ 384.00

Reliance Medical Group, LLC 3451 N Butler Avenue Farmington, NM 87401 505-566-1915

January 19, 2022

Navajo Nation EPA Superfund Waste Regulatory & Compliance Department PO Box 2946 Window Rock, AZ 86515

Re: Requested Quote
Annual Physical Exam for 4 Employees

To Whom This May Concern,

Thank you for the opportunity to provide this proposal for occupational medical services. We strive to provide the highest quality medical services in the community.

The items that you requested prices for are listed below:

Total	\$1186.00		\$4644.00
	\$0.00	x 4	included at no charge
Venipuncture		x 4	\$604.00
Heavy Metal	\$151.00		
PSA (male)	\$50.00	x 2	\$100.00
EKG	\$70.00	x·4	\$280.00
Respirator Fit Test (Quantitative)	\$50.00	x 4	\$200.00
Chem 23 w/CBC & UA	\$88.00	x 4	\$352.00
	\$384.00	x 4	\$1536.00
Cardiovascular Stress Test		x 4	\$1112.00
Chest X-ray, 2 View	\$278.00		\$160.00
Audiogram	\$40.00	x 4	,
Hazmat Physical	\$75.00	x 4	\$300.00

If you have any questions or require additional information, please contact me at 505-566-1915 ext 115 or rbaker@reliance505.com. Thank you again for your proposal request. We look forward to hearing from you.

Sincerely,

Rene' Baker - Billing Manager

Reliance Medical Group, LLC

NAVAJO ENVIRONMENTAL PROTECTION AGENCY WASTE REGULATORY COMPLIANCE DEPARTMENT ANNUAL PHYSICAL TESTING - FY'2022

Contract: Reliance Medical Group, LLC

Division/Department Name: Navajo Environmental Protection Agency - Waste Regulatory & Compliance Department

Purpose: Annual Physical Exam (OSHA Requirement)

		in a Number			ment in	Cardiovas		Resp Phys	Respiratory					Venipunct		Wales Da
Employee Name	Position Title	HAZMAT PHYSICAL	Audio Gram	Chest X-ray , 2 View	Clinical Read	cular Stress Test	Chem 23 w/ CBC & UA	(incl PPT & Question	(Quantitativ	Phosphor ous Assay	Secretary and the second second	Lipid Panel	EKG	ure (No Charge)	PSA (Male)	Heavy
Roan, W.	Environmental Department Manager	٧	٧	٧	TeV Test	٧	٧	011111111111111111111111111111111111111	V	,	(2.002)	- unu	V	Charge)	\(\text{Indic}\)	y/
Yazzie, T.	Environmental Specialist	V	٧	٧	TOTA THE	V	٧		V				,		-	
Charleston, N.	Environmental Specialist	٧	٧	٧		٧	٧		٧				V			7
Sherman, F.	Senior Environmental Specialist	٧	٧	٧		٧	٧		٧				7		- 1	· ·

\$ 4,644.00

\$4,644.00

Test/Cost:	Price	# of Staff		Total:	Account Distribution:
Hazmat Physical	\$ 75.00	4	\$	300.00	
Audio Gram	\$ 40.00	4	\$	160.00	K211504-6850
Chest X-ray, 2 View	\$ 278.00	4	\$	1,112.00	
Clinical Read	\$ 75.00	0	\$		
Cardiovascular Stress Test	\$ 384.00	4	\$	1,536.00	Grand Total:
Chem 23 w/CDC & UA	\$ 88.00	4	\$	352.00	
Resp Phys (incl PFT& Questionnaire	\$ 80.00	0	\$		
Respirator Fit Test (Quantitative)	\$ 50.00	4	\$	200.00	
Phosphorous Assay	\$ 19.00	0	\$	7 5- 0	
Uric Acid (Blood)	\$ 30.00	0	\$		
Lipid Panel	\$ 50.00	0	5	-	
EKG	\$ 70.00	4	5	280.00	
Venipunchure (No Charge)	\$ -	4	\$	-	
PSA (Male)	\$ 50.00	2	\$	100.00	
Heavy Metal	\$ 151.00	4	\$	604.00	
		Total:	s	4.644.00	

Revised: 1/19/22:ld

Reliance Medical Group, LLC 3451 N Butler Avenue Farmington, NM 87401 505-566-1915

January 19, 2022

Navajo Nation EPA Superfund PWSSP PO Box 2946 Window Rock, AZ 86515

Re: Requested Quote

Annual Physical Exam for 4 Employees

To Whom This May Concern,

Thank you for the opportunity to provide this proposal for occupational medical services. We strive to provide the highest quality medical services in the community.

The items that you requested prices for are listed below:

Hazmat Physical	\$ 75.00	x 4	\$300.00
Chest X-ray, 2 View	\$278.00	x 4	\$1112.00
Clinical Read	\$ 75.00	x 4	\$300.00
Cardiovascular Stress Test	\$384.00	x 4	\$1536.00
Chem 23 w/CBC & UA	\$ 88.00	x 4	\$352.00
Respirator Fitness Exam (incl PFT & Questionnaire)	\$ 80.00	x 4	\$320.00
Respirator Fit Test (Quantitative)	\$ 50.00	x 4	\$200.00
PSA (male)	\$ 50.00	x3	\$150.00
Heavy Metal	\$151.00	x 4	\$604.00
· · · · · · · · · · · · · · · · · · ·			

TOTAL \$1231.00 \$4874.00

If you have any questions or require additional information, please contact me at 505-566-1915 ext 115 or rbaker@reliance505.com. Thank you again for your proposal request. We look forward to hearing from you.

Sincerely,

Rene' Baker - Billing Manager Reliance Medical Group, LLC Contract: Reliance Medical Group, LLC

Division/Department Name: Navajo Environmental Protection Agency - Navajo Public Water Systems Supervision Program (PWSSP)

Purpose: Annual Physical Exam (OSHA Requirement)

	PHYSICAL	Gram	2 View	Read	cular Stress	UA	(incl PPT &	Fit Test (Quantitativ	Phosphorou s Assay	(blood)	Lipid Panel	EKG	ure (No	PSA (Male)	Heavy Metal
Senior Environmental Specialist	٧		V	٧	٧	V	V	V		(4.504)	,	Litto	1110	(Interes	Metal
Civil Engineer	٧		V	٧	V	V	V	1							
Environmental Specialist	V		V	٧	٧	V	٧	٧			6 3 7 7 8				- 1
Senior Programs & Projects Specialist	٧		٧	٧	٧	٧	٧	٧						V	V
															The state of the s

Test/Cost:		Price	# of Staff	Total:
Hazmat Physical	\$	75.00	4	\$ 300.00
Audio Gram	\$	40.00	0	\$
Chest X-ray, 2 View	\$	278.00	4	\$ 1,112.00
Clinical Read	\$	75.00	4	\$ 300.00
Cardiovascular Stress Test	\$	384.00	4	\$ 1,536.00
Chem 23 w/CDC & UA	\$	88.00	4	\$ 352.00
Resp Phys (incl PFT& Questionnaire	\$	80.00	4	\$ 320.00
Respirator Fit Test (Quantitative)	\$	50.00	4	\$ 200.00
Phosphorous Assay	\$	19.00	0	\$
Uric Acid (Blood)	\$	30.00	0	\$
Lipid Panel	\$	50.00	0	\$
EKG	\$	70.00	0	\$
Venipunchure (No Charge)	\$	-	0	\$
PSA (Male)	\$	50.00	3	\$ 150.00
Heavy Metal	5	151.00	4	\$ 604.00

Account Distribution:

K211100-6850 \$ 4,874.00

Grand Total:

\$4,874.00

Revised: 01/19/22:ld

Total:

\$ 4,874.00



November 1, 2021

Over the past several years, we have been able to keep our prices unchanged. Unfortunately, in the past year we have seen supply increases from most of our major vendors. Consequently, effective December 1, 2021, we are raising our prices on many of our services by 7%.

We appreciate your business and will continue to do our best to serve you.

Thank you.

mining and the season of the season

RELIANCE MEDICAL GROUP, LLC 3451 N BUTLER AVENUE 505-566-1915

Respirator	
Respirator Fitness Exam (incl Resp Questionnaire & F	PFT) \$85.00
Respirator Questionnaire	\$ 27.00
Pulmonary Function Test (PFT)	\$ 50.00
Respirator Fit Test (requires Questionnaire &/or PFT)	Qualitative \$ 32.00
Respirator Fit Test (requires Questionnaire &/or PFT)	
Physical Exams	
Hazmat Physical	\$75.00
Post Offer Exam (non-DOT physical)	\$75.00 (includes tax)
DOT Exam (new hire & re-cert)	\$85.00 (includes tax)
DOT Card Re-issue	\$11.00
Sheriff's NMLEA Post Offer Physical	\$70.00
Return to Duty Exam	\$70.00
Modelita	
WorkSteps	
Human Performance Evaluation (HPE)	\$132.00
WorkSteps (comprehensive)	\$160.00
WorkSteps (condensed)	\$140.00
Miscellaneous	
FAA Exam (Class 2 & 3)	0400.00
Dental Pre-op (self pay only)	\$130.00 \$.25.00 (4)
Sports Physical (self pay only)	\$ 35.00 (no tax)
Audiogram	\$ 35.00 (no tax)
Audiogram with brief exam	\$ 42.00 \$ 70.00
Full Vision	\$ 72.00 * 40.00
EKG - 12 Leads w/ interpretation	\$ 40.00 \$ 70.00
Chest X-ray (1V)	\$ 70.00 \$165.00
Chest X-ray (2V)	\$165.00
DNA Testing (call for pricing)	\$278.00 ****
, , , , , , , , , , , , , , , , , , ,	
Drug Screening/Breath Alcohol	
Breath Alcohol Test (BAT)	\$ 28.00
Rapid DS	\$ 28.00
NDOT 10 Panel DS (our lab)	\$ 38.00
DOT 5 Panel DS (our lab)	\$ 48.00
Hair DS (our lab)	\$120.00
Collection Only (urine, saliva, blood) (send to another la	(b) \$ 20.00
Hair Collection (send to another lab)	\$ 30.00
·	¥ 00.00

RELIANCE MEDICAL GROUP, LLC 3451 N BUTLER AVENUE 505-566-1915

Titers/Blood Tests (taxable)	
Hep B Surface Antibody (titer)	\$ 45.00
Hep A Antibody (titer)	\$ 45.00
MMR Titer	\$ 65.00
Quantiferon Gold Test	\$200.00
CBC/Chem 23	\$ 75.00
CMP	\$ 53.00
Lipids Panel	\$ 32.00
Tuberculosis Test (TB/PPD)	\$ 21.00
Vaccinations (non-taxable)	
Hepatitis B (3 shot series)	\$ 90.00 per shot
Tetanus/Diptheria	\$ 50.00
After Hour/Onsite	
After Hours Time (PA and Onsite)	
(Mon-Thur: 6:00pm-7:30am / Fri 6:00pm until Mon 7:30am)	\$ 47.00/hour
Onsite Time (Mon - Fri 7:30am - 6:00pm)	\$ 32.00/hour
Mileage for after hours/onsite services	\$ 0.50/mile
	Ψ 0.30/11(II)C

^{**}Unless otherwise specified, all prices are plus tax. Current NM Gross Receipts Tax Rate is 8.375%. All prices are effective December 1, 2021 and are subject to change.**

SERVICES CONTRACT

EXHIBIT B - Consultant Credentials

Reliance Medical Group	LLC
3451 N. Butler Avenue	
Farmington, New Mexico	87401
(505) 566-1915	
	3451 N. Butler Avenue Farmington, New Mexico

FOR INTERNAL GUIDANCE ONLY - Include in this section:

- 1. Consultant's current resume. If Consultant is a firm, use the resume of the primary responsible party,
- 2. Signed Navajo Nation Certification Regarding Debarment and Suspension,
- 3. Completed and signed W-9 Form, and
- 4. Any other credentials that are relevant to the work in this contract.

National Registry of Certified Medical Examiners

NRCME ID #	NAME		
6726835424	Kennard Stradling, MD		
7460765182	Larry Welling, MD		
4177680171	Nicholas Armano, PA-C		
8181947996	Doug Shaffer, PA-C		
2306193537	Lawrence Decker, PA-C		
8710326035	Chad Silseth, DC		

State License Numbers

State License #	Name
91-319 NM	Kennard Stradling, MD
2000-308 NM	Larry Welling, MD
PA-2006-0011 NM	Larry Decker, PA-C
PA-2005-0038 NM	Doug Shaffer, PA-C
PA-2017-0049 NM	Nick Armano, PA-C
1441 NM	Chad Silseth, DC

NAVAJO NATION CERTIFICATION Regarding Debarment and Suspension

Applicant acknowledges that to the best of his/her knowledge that their company and principal participants on this contract:

- 1. Are not debarred, suspended, or otherwise slated for debarment, ineligible and/or excluded from participation on Federal, State, and Tribal Government contracts etc.
- 2. Are not presently nor have been under criminal indictment or civilly charged by a governmental entity (Federal, State, and Tribal Government) for fraud, forgery, falsification, theft, bribery, destruction of records, receiving stolen property and other criminal offenses in the administration of a government contract.
- 3. Have not been terminated for cause or convenience by a governmental entity in the administration of a government contract (Federal, State, and Tribal Government).
- 4. If the Navajo Nation determines that the grounds to terminate the contract and pursue other legal remedies.

Applicant's Address

Beliance Medical Group, Lic 3451 N. Builer Ave.

Farmington, Nm

87401

Name & Signature of Applicant

James Holgate V.P.
Type or Wint Name

ature Date

Date

(Flev. October 2018)
Department of the Treasury
Informal Revoyers Service

Request for Taxpayer Identification Number and Certification

Give Form to the requester. Do not send to the IRS.

		who sides and also less	or master	1040	111,		i_					
	Name (as shown on your income tox return). Name is required on this line; re Reliance Medical Group LLC	o not leave this line blank.	•									
	2 Business name/disregarded entity name, if different from above	•										
on page 3.	Check appropriate box for faderal tex classification of the person whose ner following seven boxes. Individual/sole proprieter or C Corporation C S Corporation.		Trus			oartel	emplier n entitie	28, N	ot ku	dividue		
pe.	single-mamber U.G	•		~ ~		Exem	pt paye	8 GQ1	de (if	any)_	5	
T B	United lability company. Enter the tex classification (C.C corporation, 5	is B corporation, PePartne	ahlp) ►	<u> </u>	_							
Print or type. Specific instructions on page	thater Check the appropriate box in the line above for the tex classification. LO if the LLC is classified as a single-member LLC that is disregated to enable LLC that is disregated to enable LLC that is not disregarded from the owner for U.S. (edera) tex is disregarded from the owner should check the appropriate box for the indisregarded from the owner should check the appropriate box for the	rem the expect unique the	owner of th	1 - 4			plion (r (if any)	9m F	ATC	Агере	seling	
ğ	B Address frambor, streat, and sprt. or sufte no.) See instructions.						to secou			d autobio	Pett.	a)
588.5	3451 N Buller Ave		Requesta	37'S 11	eme en	d ada	o) esert	plior	uri)			
ហ	6 City, state, and ZIP coda		-									
	Farmington, NM 87401											
	7 List account number(s) here (optional)		ł	~								
Pan												
Enter	your TIN in the appropriate box. The TIN provided must match the ner	me given on line 1 to av	roid _	Bock	al seçu	rity (1	rumber					
	p witholding. For individuals, this is generally your social security numerically, see the instructions for			T		Ī		T	T	T		\blacksquare
entitie	e, it is your chickly of restiniteation religion feeting. If you can not be to a	number, see How to ge	sta L			-	LL	╝.	-			
Note	If the account is in more than one name, one the instructions for the	_)r								
Numb	er To Give the Requester for guidelines on whose number to enter.	i. Also 868 What Name	and F	Emp	loyer lo	tettii	inallan	nu	oloer	******		į
			1	В	6 - ¹	0	4 7	· la	ı l o	ا و ا	6	İ
Par				<u>1</u> -				T	L,			
Unde	pensities of perjury, I certify that:											
Sei No	s number shown on this form is my correct taxpayer identification num n not subject to backup withholding bacause: (a) I em exempt from ba vice (IRS) that I am subject to backup withholding as a result of a failu longer subject to backup withholding; and	ber (or I am weiling for okup withholding, or (b re to report all interest :	a number) i have n or dividen	r to E ot be ids, c	e isau en noi er (v) ti	ed to lifed IFI ear	o me); by the S has	and Int noti	ema Refi	i Revo	enus et i d	ern
3. I an	n a U.S. cilizen or other U.S. person (defined below); and											
4. The	FATCA code(s) entered on this form of any indication that I am exam	pt from FATOA reportin	na la corre	nt								
you he acquir other	we laisd to report all interest and dividends on your tax return. For real as dillon or shendomment of secured properly, canositalizh of debt, contibut then interest and dividencie, you are not required to sign the certification, t	olified by the IRS that yo tate transactions, Rem 2	ou are curi dose not	renth cool	N. Harı	mort	น คกรด	riure	w) mi	a d		U t e
Sign Here	A Complement					*****	Z	_				
Ge	neral Instructions		Date >						~		 -	_
Section	on references are to the Internal Revenue Code unlarge otherwise	• Form 1989-DIV (di funds)										
HOIDQ	e developments. For the latest information about developments	 Farm 1099-MISQ (proceeds) 	verlous ty	pas	of inco	me,	prizes	, aw	ards	ı, ar g	17088	;
1 CARTO	d to Form W-9 and its instructions, such as legislation enacted hey were published, go to www.irs.gov/FormW9.	 Form 1099-B (stoc transsittons by brok 	k or mulu terel	let fu	nd aci	9\$ &I	nd ceri	alo (othe	r		
	pose of Form	 Form 1098-5 (proc 	aeds fron	n res	istae ë	e tra	nsecti	आह)				
An Inc	Middlel or entity (Form W-9 regression when I	• Form 1099-K (men	unent cere	d ani	u Wird	part	y netw	ork :	trein	sactio	U8)	
identi	leation number (TN) which may be used on act taxpayer	 Form 1098 (home) 1098-T (tultion) 			reet), 1	098-	·E (stu	dent	ioai	o Inter	rest),	•
	RELIVERED EXAMPLE REPORT TO THE PROPERTY OF TH	■ Form 1099-C (cons					_					
	veridentification number (ATIN), or employer identification number to repet en an information return the amount paid to you, or other	• Form 1089-A (acqu Use Form W-9 on)	uerion of i	gden ro - '	donne	ent o	f Gecu	ed r	orop	erly)		
	nt repertable on an information return. Examples of information a sociede, but are not emited to, the following.	skeply to blooke Aon	n correct	TIN.								
• Forn	1 1059-INT (Interest exmed or paid)	if you do not retun be subject to backup leter.	n Form W Withhold	-9 to Ung.	the re See W	iques Ihat l	st <i>er wi</i> Is back	ib a	TIN, withi	you r	nigh 9.	t

SERVICES CONTRACT

EXHIBIT C - Certificate of Insurance

FIRM NAME	Reliance Medical Group, I	LLC
ADDRESS	3451 N. Butler Avenue	
	Farmington, New Mexico	87401
TELEPHONE NO.	(505) 566-1915	

FOR INTERNAL GUIDANCE ONLY - Include in this section:

- 1. The Consultant's Certificate(s) of Insurance, and
- 2. The Risk Management Program's (RMP) signed Memorandum which indicates that this particular Certificate of Insurance meets RMP's minimum insurance requirements.

CERTIFICATE OF INSURANCE	Issue Date: 02/02/2021
Effective Date: 03/19/2021 First Named Insured: Reliance Medical Group LLC 3451 N. Butler Avenue Farmington, NM 87401	Professional Liability Polloy Occurrence Coverage IMPORTANT NOTICE: This document is issued as a matter of information and does not confer rights to any recipient. This document is not binding, is not part of the Policy described below.
Insured: Reliance Medical Group LLC Specialty: ENTITY - Entity	not change or extend the coverage provided by that Polloy.
Policy Number:	Palicy Perlod:
The Insured above is: A Named Insured A Locum Tenens An Additional Insured	From: 03/19/2021 To: 03/19/2022 Agency and Address: The Doctors Company 7770 Jefferson Street NE, Suite 410 Albuquerque, NM 87109 (505)796-3413
Claim Limit: Aggregate Limit:	2F LIABILITY \$200,000 \$600,000

- Locum Tenens and Additional insureds share Limits of Liability with the applicable Named Insured.
- II. Photocopies of this document are deemed as valid as the original.
- III. The Policy, including Endorsements, determines the coverage provided. Some Claims may not be covered by the terms of the Policy, or may be subject to restrictions such as lower Limits of Liability.
- IV. If the Policy, or coverage for any person, is canceled for any reason or if the terms of the Policy are changed, we will notify the First Named insured (and any additional Named insureds as required by applicable state law). Coverage is not in effect unless and until all payments are received when due.
- V. Participates in Patient Compensation Fund.

CERTIFICATE OF INSURANCE	Professional Liability Policy Occurrence Coverage IMPORTANT NOTICE: This document is issued as a matter of information and does not confer rights to any recipient. This document is not binding, is not part of the Policy described below, and does not change or extend the coverage provided by that Policy.					
Effective Date: 03/19/2021						
First Named Insured: Reliance Medical Group LLC 3451 N. Butler Avenue Farmington, NM 87401						
Insured: Nicholes M Armano PA						
Specialty: PHA01 - Physician Assistant						
Policy Number: 0824945	Policy Period: From: 03/19/2021 To: 03/19/2022					
The Insured above is: X A Named insured A Locum Tenens An Additional Insured	Agency and Address: The Doctors Company 7770 Jefferson Street NE, Suite 410 Albuquerque, NM 87109 (505)786-3413					
Aggregate Limit:	F LIABILITY \$200,000 \$600,000					
I. Locum Tenens and Additional Insureds share Limits of Liability with the applicable Named Insured. II. Photocopies of this document are deemed as valid as the original. III. The Policy, including Endorsements, determines the coverage provided. Some Claims may not be covered by the terms of the Policy, or may be subject to restrictions such as lower Limits of Liability.	IV. If the Policy, or coverage for any person, is canceled for any reason or if the terms of the Policy are changed, we will notify the First Named Insured (and any additional Named Insureds as required by applicable state law). Coverage is not in effect unless and until all payments are received when due. V. Participates in Patient Compensation Fund.					

4a.0824845.7.2.7174470

CERTIFICATE OF INSURANCE	Issue Date: 02/02/2021					
Effective Date: 03/19/2021	Professional Liability Policy Occurrence Covera					
First Named Insured: Reliance Medical Group LLC 3451 N. Butler Avenue Farmington, NM 87401	IMPORTANT NOTICE: This document is issued as a matter of information and does not confer rights to any recipient. This document is not binding, is not part of the Policy described below, and does not change or extend the coverage provided by that Policy.					
Insured: Kennard T Stradling MD						
Specialty: FGP02 - Urgent Care						
Policy Number:	Policy Period:					
9824945	Francis de la casa de					
The Insured above is: XI A Named Insured A Locum Tenens An Additional Insured	Agency and Address: The Doctors Company 7770 Jefferson Street NE, Suite 410 Albuquerque, NM 67109 (505)796-3413					
Claim Limit: Aggregate Limit:	2F LIABILITY \$200,000 \$600,000					

- Limits of Liability with the applicable Named insured.
- ii. Photocopies of this document are deemed as valid as the original.
- III. The Policy, including Endorsements, determines the coverage provided. Some Claims may not be covered by the terms of the Policy, or may be subject to restrictions such as lower Limits of Liability.
- canceled for any reason or if the terms of the Policy are changed, we will notify the First Named Insured (and any additional Named Insureds as required by applicable state law). Coverage is not in effect unless and until all payments are received when due,
- V. Participates in Patient Compensation Fund.

CERTIFICATE OF INSURANCE	Issue Date: 02/02/2021					
Effective Date: 03/19/2021	+- 					
First Named Insured:	Professional Liability Policy Occurrence Covers					
Reliance Medical Group LLC 3451 N. Butler Avenue Farmington, NM 87401	IMPORTANT NOTICE: This document is issued as a matter of information and does not confer rights to any recipient. This document is not binding, is not part of the Policy described below, and does not change or extend the coverage provided by that Policy.					
Insured: Lawrence A Decker PA						
Specially: PHA01 - Physician Assistant						
Policy Number:	Policy Period:					
0824945						
The Insured above is: A Named Insured A Locum Tenens An Additional Insured	Agency and Address: The Doctors Company 7770 Jefferson Street NE, Suite 410 Albuquerque, NM 87109 (505)796-3413					
) Butto of						
Claim Limit:	LIABILITY					
Aggregate Limit:	\$200,000					
Locum Tenens and Additional Insureds share Limits of Liability with the applicable Named Insured. Photocopies of this document are deemed as valid as the original. The Policy, including Endorsements, determines the coverage provided. Some Claims may not be covered by the terms of the Policy, or may be subject to restrictions such as lower Limits of Liability.	\$800,000 IV. If the Policy, or coverage for any person, is canceled for any reason or if the terms of the Policy are changed, we will notify the First Named Insured (and any additional Named Insureds as required by applicable state law). Coverage is not in effect unless and until all payments are received when due. V. Participates in Patlent Compensation Fund.					

MPLOC003 (04/15)

54586

Page 1 of 1

OO02003

32031526 - 00

Insured

186 Greenwood Road : P.O. Box 2800 : Napa, CA 94558-0800 : (707)226-0100 : (800)421-2368 : www.thedactors.com

CERTIFICATE OF INSURANCE Effective Date: 03/19/2021 First Named insured: Reliance Medical Group LLC 3451 N. Butler Avenue Farmington, NM 87401 Insured: Larry R Weiling MD Specialty: EGR02 Family Co.	Professional Liability Policy Occurrence Coverage iMPORTANT NOTICE: This document is issued as a matter of information and does not confer rights to any recipient. This document is not binding, is not part of the Policy described below, and does not change or extend the coverage provided by that Policy.
Specialty: FGP02 - Family General Practice Min : Policy Number: 0824945 The Insured above is: X A Named Insured A Locum Tenens An Additional Insured	Policy Period: From: 03/19/2021 Agency and Address: The Doctors Company 7770 Jefferson Street NE, Suite 410 Albuquerque, NM 87109 (505)796-3413
Claim Limit: Aggregate Limit: Locum Tenens and Additional insureds share Limits of Liability with the applicable Named Insured. Photocopies of this document are deemed as valid as the original. The Policy, including Endorsements, determines the coverage provided. Some Claims may not be covered by the terms of the Policy, or may be subject to restrictions such as lower Limits of Liability.	\$200,000 \$600,000 IV. If the Policy, or coverage for any person, is canceled for any reason or if the terms of the Policy are changed, we will notify the First Named Insured (and any additional Named Insureds as required by applicable state law). Coverage is not in effect unless and until all payments are received when due. V. Participates in Patient Compensation Fund.

ACORD	þ

	CERT	IFICATE OF L	LABIL	JTY IN	SURAN	CE		(KM/DD/YYYY)
THIS CERTIFICATE IS ISSUED AS CERTIFICATE BOES NOT AFFIRM BELOW. THIS CERTIFICATE OF REPRESENTATIVE OR PRODUCES	A MATTE ATIVELY NSURANI AND THE	ER OF INFORMATION OF NEGATIVELY AME CE DOES NOT CONST	NLY AN ND, EXT ITUTE A	D CONFERE END OR AI CONTRAC	NO RIGHT LTER THE (T BETWEEN	9 UPON THE CERTIFIC POVERAGE AFFORDED THE ISSUING INSURE	ATE HO BY TH	E POLICIES
MPORTANT: With martificate hald	Van Dan Land						i	
H SUBROGATION IS WAIVED, subjected conferright	ic to the	terms and conditions o	of the party	(108) muat I Cv. cartsin	Midda over en saleliot	ONAL INSURED provision	ns or b	o endorsed.
this certificate does not confer right	a to the c	ertificate holder in lieu c		STATE OF STREET	(G)	b raderio all establisatile	A4 A4 8	racement on
CM&F Group kno.	ł		NAM		F Group		1	
1 99 Hudeon Street, 12th Floor		HONE END 1-800-221-4904 FAX AVE. N					h	
New York, NY 10013	1	Apoglesa: integernigroup.com						
			<u> </u>		MSURER(9) AFF	ORDING COVERAGE		NAIC#
CHEURED	· - · · -	*** - *** * *** ***********************	High	ERA: MEDI	CAL PROTE	CTIVE COMPANY- MPC		
Douglas E. Shaffer			J	ERE:	· ·			
8509 Logan's Cove PI Farmington, NM87402				ERD:	····		<u> </u>	
	1		J	ERE:				
COVERAGES CE			INBUR			···		ļ
T 1100 (17) 100	RTIFICA	TE NUMBER:			· · · · · · · · · · · · · · · · · · ·	REVISION MINIPEO		
THIS IS TO CERTIFY THAT THE POLICE INDICATED, NOTWITHSTANDING ANY CERTIFICATE MAY BE ISSUED OR MAY EXCLUSIONS AND CONDITIONS OF SLC	:9 OF INSI REQUIREM	URANCE LIBTED BELOW	HAVE BE	EN ISBUED T	O THE INSUR	RED NAMED ABOVE FOR 1	HE DA	ICV PERION
EXCLUSIONS AND CONDITIONS OF MA	PERTAIN	THE INSURANCE AFFOR	an of An Roso by	THE POINT	T OR OTHER	DOCUMENT WITH RESPE	יסד דס	WHICH THIS
TYPE OF USURANCE	HAPOLICIE	B. LIMITS SHOWN MAY HA	VE BEEN	REDUCED BY	PAID CLAIM	ED HEREIN IS SUBJECT T B.	Q ALL 1	THE TERMS,
COMMERCIAL GENERAL LIABILITY	ADDL SU	POLICY KUMBER			FRIOVEN WINDOWY	List		 ,,
GLAISIS-MADE COCKIR	1	1		1		EACH COMMISSION	Ĭ	
	1 1			1	1	DAMAGE TO RENTED PREMISES (En occurronce)	F	
	1			j		MED EXP (Any time person)	 	
GENT AGGREGATE LINET APPLIES PER:				l	1	PERSONAL & ADV ENSURY		
POLICY TOO	1 1			1		GENERAL AGGREGATE	8	
AUTOMOGREE LIABILITY					1	PRODUCTS - COMPTOP AGG	8	
ANY AUTO					 -	CAMENED RINGLE LIMIT	*	
OMNEO [") SOUGHT IN		f l		1	ł	HODELY INJURY (Par norsen)	\$	·
OWNED ARTOS CNLY ARTOS A]	BOIRLY INDURY (Per cocklent)	\$ 	
AUTOS CHILY]			i	PROPERTY DAMAGE	<u> </u>	··
UMBRELLA LIAB OCCUR	╂┉┼╌				L	-(cdi techtoui)		
ENGRALIAN CLAIMS-MAD				_		BACH OCCURRENCE	*	
(NET) APRICE PROPERTY.	1					AGGREGATE		
Workers Compensation And Employers Marility						693		* ·····
ANY PROPREDICES LABELY ANY PROPREDICES AND ANY PROPREDICES OFFICE AND ANY PROPREDICES OFFICE AND ANY PROPRESSOR OF OPERATIONS below	NIA		ļ			BYATUTE OTH		
n Ann' operation raspet			j			EL EACH ACCIDENT	<u> </u>	
A Professional Liability			{			EL DISHASE - PA GAIPLOYEE EL DISHASE - POLICY LINIT	\$ -	
I Interesting CHROCITY		F57952		08/01/2021	D6/01/2022	Per Incident		
	1]	- 1	í		Acceptation	500.000 \$00,000	<u>'</u>
DESCRIPTION OF OPERATIONS / LOCATIONS / VEHIC Occurrence Coverage	ER (Acoun	104 Adelinates						· .
Occurrence Coverage	- (100,00	Management Remarks School	ule, may be	effected if more	space to require	4)		
A - Physician Assistant	į							ŀ
								1
								Ţ
	ļ							- 1
ERTIFICATE HOLDER								
Douglas E. Shaffer			CANCE	LLATION				
6509 Logan's Cova pi		,						
Farmington,NM87402			THE	lu any of ti Expiration	ED EVORASM	SCRIBED POLICIES BE CA	CELLE) BEFORE
İ			ACCO	RDANCE WIT	H THE POLICY	REOF, NOTICE WILL BE PROVISIONS.	DELIV	ERED (N
			AUTHORY	MED REPRESENT	biling.			1
İ					INTIVE			
		_		el.			.>	
CORD 26 (2016/03)				@ 102	8-2016 ACO	Ph company		
WO (54.14102)	The AC	ORD name and logo ar	o registe	ered marks	of ACORD	RD CORPORATION. A	i righte	reserved.
İ								
		8 00 00 00 . g werennemen						
		- "]"	-					

SURANCE			Date Issued 12/23	3/2020	
e of Administration LLC 6	This memorandum is issued as a matter of information only and confers no rights upon the holder. This memorandum does not amend, extend or alter—the coverages afforded by the Certificate listed below. Company Affording Coverage Liberty Insurance Underwriters Inc.				
nue 1					
t, term of condition of any brance afforded by the Cer cown may have been reduce se and verification of paym	y contract or other (tificate described he ed by paid alsies	document with respect wein is subject to all the	to which this memore terms, exclusions as	randum may be ad conditions of	
Certificate Number	Effective Date	Expiration Date	Limits		
AHY-1028408101	01/04/2021	01/04/2022	Per Incident/ Occurrence	\$200,000	
			Annual Aggregate	\$600,000	
E ONLY		before the expiration will endeavor to me Memorandum Holde mail such notice shal of any kind upon representatives. Authorized Representatives Brostow	date thereof, the istal 30 days written in amed to the left il impose no obligate the company, tative	suing company notice to the but failure to tion or lightlity	
	nue crifficate listed below has t, term or condition of any brance afforded by the Cer own may have been reduce se and verification of paym Certificate Number AHY-1028408101	and administration LLC artificate listed below has been issued to the critificate listed below has been issued to the total term or condition of any contract or other arance afforded by the Certificate described he own may have been reduced by paid claims. So and verification of paymont are your evidence Certificate Number Effective Date AHY-1028408101 01/04/2021	This memorandum only and confers memorandum does coverages afforded in Liberty Insurance U Liberty Insuran	This memorandum is issued as a matter only and confers no rights upon the memorandum does not amend, exter coverages afforded by the Certificate list coverages afforded by the Certificate list coverages afforded by the Certificate list coverages. Liberty insurance Underwriters Inc. The certificate listed below has been assued to the insured named above for the policy period to the insured named above for the policy period to the remark of the certificate described herein is subject to all the terms, exclusions as some may have been reduced by paid claims. Be and verification of payment are your evidence of coverage, No coverage is afforded unless and verificate Number. Effective Date. Expiration Date. Limit AHY-102840810 01/04/2021 01/04/2022 Per Incident/Occurrence Annual Aggregate. Should the above describe Certificate before the expiration date thereof, the is will endeavor to mail 30 days written Memorandum Holder named to the left small such notice shall impose no obligation of any kind upon the company,	



NCMIC INSURANCE COMPANY PO BOX 9118 DES MOINES, IA 50306-9118

CERTIFICATE OF INSURANCE

Policy #:

CM00123573

Policy Type:

Claims Made and Reported

Palicy Period:

From 09/19/2021 to 09/19/2022 12:01am

Local Time at the address of the Insured

insured:

Chad R Silseth DC

#101

3451 N Butler Ave Farmington NM 87401

This certificate is issued as a matter of information only cordificate does not amend, extend or alter the coverage afforded by the policy below.

Coverages:

This is to certify that the policy of insurance listed below has been issued to the insured named above for the policy period indicated. Notwithstanding any requirement, term or condition of any contract or other document with respect to which this certificate may be issued or may pertain, the insurance afforded by the policy described herein is subject to all the terms, exclusions, and conditions of the policy.

Type of Insurance

Policy#

Effective Date

End Date

Liability Limits
Per Claim/Policy Aggregate

Certificate Issued on: 08/10/2021

Professional Liability

CM00123573

09/19/2021

09/19/2022

1,000,000/3,000,000

Authorized Representative

Certificate Holder:

RELIANCE MEDICAL GROUP ATTN CREDENTIALING STE 101 3451 N BUTLER AVE FARMINGTON NM 87401 Allb 24 kd.;

mpeterson Client

Form: NCMIC-CERTCM 08/2014